VT A=) Abay ) - MR EE

B = 7 U —h

No.
20254F 4 H

1H

PRA St

i B R R T i AR T 11203 3
TEL : 0847-45-5025
FAX : 0847-45-5026

OEtmES il BT

T =

%

P

At £

H

N T R

A 3H21H~6H10H - 9H21H~11H30H (LA MEIXiEZizicaR)
ARG D g )
/) )= DFTIA T 15 Pt
Aic & 5 4 7t % 1
a7 — }@ N 2777 AFA707 To= | MUEM OARSTE | A/ ORI
MO | BRI K SRS — cm mm I X DR
EL St 27 12 20 BB
%Eizf v~ O fE FEOTT R SR HE M o & KTk FEOSS MR GEHR
£ . L~ A RN BB
%Q H *j_ 2] T iﬁ @‘Eﬁﬁﬁﬂﬁﬁkuﬂﬁi El:fﬂ H %t % o Ik
BTN L DXy {5 A EHR I G o)) - O AT RS B — ke /md
SidEay ) - O R EERBR )T 15 i IR - JEARTRE a7 ) — F 0k E —C
ﬁﬁ;m D i b o FARDBH - SR KA NERUY/ kRO BERD 55 %
%%n IRFNAEFOFELE M OME A & | A B OBE & FMNZGEa R AL K B o B AEE O ER — ke /md
HEW b W & A B 0.30ke/mt UL T [ Bt/ 80 BEED FROUIAEED LI — ke/m
i@é@ﬁ%{;umﬁéﬁg 4_2202 REEDAT TREAT VT 7 n-DEkE —cm
fif A iz £t
T A v HEF%%U(IQQ'E)‘/M%JEAH: BB g/c | 3.04 Nas0eq % | —
A Dy, 5 — e s | — |NasOeq -
I , b IEEEI LARATR O R X SRR ] B g/ | IRy & D
o, TR E A X R & A IXGJ\ RBE oA R G %
HH O Tab R IR LR SR T AlENLZ L SR—YE — 2.75 — | 2.57 —
=) - - - - - - - | - —
1Z1©) - — — — — — — | - —
MDA 2010 R RAFH s my AfbFIE 20mm~10mm| 7. 00 — |2.71| 1.0%1.0
ﬁ,(@ﬁ’#zﬁ 1305 | B RAE LT A AT AWbLEHE 13mm~5mm 6. 25 — 12.90| 1.0*1.0
@ _ _ _ _ _ _ _ _ _
@ — — — — — — — | - —
R0 Y= £ A37u— 150Rsure AEJRKA (FEHET 1 1) Na,0e 0.6
TR @) i 4, — T 3 — f,/ d —
e — — ? —
B O% R |D0.00% KOFE  [BIUK - #F A By B - %
EUCEM OB W F — HOF M — K79y RO —
i A& £ ke /m’
. = S} | B iz HL =1 izl N i vall
+
My T e X0 Te el 0ol [ 0l@al 0 @0
324 — — 175 | 858 | — — | 459 | 492 | — — | 2.27 — —
Kt A R I 54 %K f& A M — %M B 49.7 %
s = FHOERRAHA, BRAOEREI VUL, MY RLIETTA5ARH5, | BHES
(RFEIRS) HEMO:© 50. 0:50. 0

EIEAEYER A & L CRIC R 9738 A JI oo R Fa Al @aui(mw? E Lia“
6H11H~9H20H : fEHERLA (T
[(4HA] 12H 1H~3H20H : HEAERS

(2 44]

WL, AEJUKA +20%, =
W2kt L, AEJRUKH

-20%, r

HEAETB/K A +15%
EAEJBUKA] —15%




A 3L
ReithE
Aic = 5 B4 7t % s
27— hO N 2777 AIAT07 Te= [ HEM ORRTHE] v ok
BN 5| HHHIC K DL — cm mm I X AR
S i} 27 12 20 BB
%E:E r XA v b O F O MO RE R HE M o & K Tk MO RE R
2 . L =1 £ A RN BB
%\/; H *j_ D *i iﬁ @‘Eﬁﬁﬁﬂﬁﬁkuﬂﬁi *fﬂ T»_EIJ )d_ % D ji {£
BTN HRZ Z DXy {5 A EHR I G o)) - O AT RS B — ke/mi
~ Al ) - D IR FERER 5 1B ghif R - [EAERE o7 Y — h oiRE —C
ia@ 7K ) il b o FARDBH - SR KA NERUY/ KR BERD L 55 %
% == \TRANAD B OO TR S OV B A B OVBL & 24| L au KEO BEEO LR — ke/md
W= b M & A B 0.30ke/md LA T |Bfiev B0 BEED FIRUIEEED L} — ke/md
ufz”ﬁr %f”E?LZ)*jg 4_2202 FELEDAT VT AT VT 7 n—DRE —cm
(1) ZEhteti(v) YTHOEREICEY v = 10 %
(2)E A58 (m)
mi = I.S%v — 33.8 N/uf
L= =00
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(3)KEA FEE(W/C) m = -19.0 + 28.9 X C/W
W/C = 28.9 = (33.8 + 19.0) X 100 = 54 %
W/C = 54 %
(4) BALKE (W) YTHOERKIZEDY W = 175 ke/m
(5)HfSrE A F&E(C) C =W+ (W/C) X 100 = 175 = 54 X 100 = 324 keg/m
Cv= C + #JF = 324 =~ 3.04 = 107 L/m
(6) 7558 (A) A = 4.5 % X 1000 = 45 L/md
(7)) EM*E(s/a) MTHEOFEMKICEID s/a = 49.7 %
(8) WA HIEME(S) Sv = (1000 — (W+Cv+A)) X s/a = 673 X 49.7 % = 334 L/m
S = Sy X FEWEE = 334 X 2.57 = 858 kg/mi
(9) BALHEM £ (G) Gv = 1000 — (W+Cv+Sv+A) = 1000 — 661 = 339 L/m
Gl = Gv X 50.0 % X EEZEE = 339 X 50.0 % X 2.71 = 459  kg/mi
G2 = Gv X 50.0 % X EW#E = 339 X 50.0 % X 2.90 = 492 kg/mi
(10) BN EFnAlE (Ad) Ad = C X i = 324 X 0.70 % = 2.27 keg/m
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